TRADE MANAGEMENT EA 
This EA will have the main purpose of closing a percentage of lots and moving SL to BE (Breakeven). 
Trades will be opened manually so EA will NOT open trades! 
The EA will move SL to BE depending on the size of SL
EA will be attached to each chart
The EA will have the following settings; 

Start Time: 13:14 (24hr clock)
Stop Time: 22:47
Time Filter: True/False
TP1: 1xSL/2xSL/3xSL/4xSL/5xSL/6xSL
TP1 Lots Closed; 25%/50%/75%/100%
TP2: 2xSL/3xSL/4xSL/5xSL/6xSL
TP2 Lots Closed: 25%/50%/75%/100%
Breakeven: 1xSL/2xSL/3xSL/4xSL/5xSL/6xSL
Breakeven Plus (pips):
Show TP Levels: True/False
Push Notification: True/False
Screen Alet: True/False

Example 1
A buy trade with SL= 45pips, Lots = 1.2 Lots, EA settings TP1 = 2xSL, TP1 Lots = 50%, TP2 = 4xSL, TP2 Lots Closed = 75%, Breakeven = 1xSL, Breakeven Plus = 3 pips

The trade moves up 45 pips, EA moves SL to breakeven plus 3 pips
Trade continues to move up to 90 pips, EA to close 50% x 1.2 lots = 0.6 lots
Trade continues to move up to 180pips, EA to close 75% x 0.6 lots = 0.45 lots
Trade has 0.15 lots open (0.6 - 0.45), these lots will be managed and closed manually 

[bookmark: _GoBack]Example 2 
A sell trade with SL= 34pips, Lots = 0.2 Lots, EA settings TP1 = 1xSL, TP1 Lots = 25%, TP2 = 3xSL, TP2 Lots Closed = 50%, Breakeven = 2xSL, Breakeven Plus = 2 pips
Trade moves in profit 34pips, EA to close 25% x 0.2 lots = 0.05 lots
Trade has 0.15 lots (0.2 - 0.05) running 
Trade moves in profit 68 pips, EA to move SL to breakeven plus 2 pips
Trade moves in profit 102 pips, EA to close 50% x 0.15 lots = 0.075 = 0.08 lots (Round off)
Trade has 0.07 lots (0.15 - 0.08) running, these lots will be managed and closed manually 

Example 3 
A buy trade with SL= 41pips, Lots = 5 Lots, EA settings TP1 = 1xSL, TP1 Lots = 50%, TP2 = 5xSL, TP2 Lots Closed = 100%, Breakeven = 1xSL, Breakeven Plus = 2 pips
Trade moves 41pips in profit, EA to close 50% x 5 lots = 2.5 lots
EA to move SL to breakeven plus 2 pips 
Trade moves 205 pips in profit, EA to close ALL the lots (100%)

Example 4
A sell trade with SL= 52pips, Lots = 0.09 Lots, EA settings TP1 = 1xSL, TP1 Lots = 25%, TP2 = 4xSL, TP2 Lots Closed = 75%, Breakeven = 1xSL, Breakeven Plus = 0 pips
Trade moves 52 pips in profit, EA to close 25% x 0.09 lots = 0.0225 = 0.02 lots (Round off)
Trade has 0.07 lots running
EA moves SL to breakeven (EA will not move SL past entry since Breakeven Plus = 0 pips)
Trades moves 208 pips in profit, EA will close 75% x 0.07 lots = 0.0525 = 0.05 lots
Trade has 0.02 lots. These lots will be managed and closed manually. 

Example 5 
A buy trade with SL= 29pips, Lots = 3.1 Lots, EA settings TP1 = 2xSL, TP1 Lots = 100%, TP2 = 4xSL, TP2 Lots Closed = 75%, Breakeven = 2xSL, Breakeven Plus = 3 pips
Trade moves 58 pips in profit, EA to close ALL the lots (100%)
All the other EA settings are not considered since ALL the lots have been closed at TP1




